;_L‘u_s Carl asd Divergeace

J_-. Divergence  :  For F= 93+ QT*“RZ’

dv F = V. F = %E“f‘ EYva + 2=

3
T Two dedbook. nobublons  or chivergence

Dz\lex ke 25 A éCcLém’ CW(. measures ne{f q@vk [ Loss 9((“
.&:;e__ # Fx 4, 3) =

x T+ 43, B
dv .
) V 4 By cefddbon .
) T T = S+ S (@) + (o)
R B = 1+« 0=z
[Tod- x4 P T2 F Jor Fo o, a) =<8, e, -4
Solublon v By dedinilon

| T F = 3x 0@y« i) + &4

= & + XF + 0

fi

It LI .



2, Gl 2 For F= PT + Q7+ RE,
—_ - >

< — = -3 J k

Carl F= Uxp = },a., 2. 3
K Y N
PR

= (B - )T (LT (3R-EX

Curl 3% a veckor Peld. ool measures Hho oxis ef roktloq
of dusk af o \foz)r\'é»

Bonde . Flyo)= ~4 T+ X3, Jad

0 X - -

Y \ k‘
== = 2 J
_ Curl F~ = ,aai _éa{T ‘3;5'-
~4 X 0

) == =
= Ls@’ (o) - %bﬁ):} v+ [‘a%?('%) - -fg—,&(o)J 3
¥ [_‘E%ZW) - ol %

=Y +©F + 2K = aof

<42 curl B
4l
li




For Fe g.a)= <At , 43, -Y*> .

Text - BEx |

kI x F

Solublen . By defnifleq

7
AT S
| r o oy 4|

- <\‘5%(-&123- SO SEE - PRV Y ATEA I
Ay = Tpxad >

= ~wW-xg . A-0_ 43 -0>

= L -n- X, YD

B For ik, 4.3) wedh corbbuiess secoqd— oviler parial
‘O(,QY)S\)Q:HU% , -7

Ix (vf) = 0
For F = P(L 4.3 2t QK g, ) 5"7—«- Rix g0 K.
where P, Q. R Aae Corbmions M-O%r‘jm«nlﬁq( denvertives

7. (¥xF) = 0



.ft_ How 40  dedermdne. a_ vector Joeld —F? J5  easervative

or no¥

Qﬂeom (3[) case. , Hexdbook wage IIOS)
I F 3o & veckor feld dafmed oa all of 1RZ ad

"Ux F = —57,41\24_?
=

F 3 a (easervadve {a‘e/(o( Abo
z‘QC T— 25 o toasevradiue @6[& ‘yve’\- V x 5 )

| Fooga) = 43 T+ aye® 7+ wgTE
& o conservative. Leld. -

M:So[uté‘a« X 1 27 _O? E_;
—
Ux F = x  HF F
&° g sy

- N I
= ?@ 2 s 3;5' %\ i
24y 3—3 BM%} 3’({1 2&1 H &_3
DX oY —_—
+ k.
H Za,& 2—%&3
-7
= 0

= F % a  (overwdwe %ue,(p(



f‘leeowm CLD Case_ ,  Jexdbeok pages IOQD,IO‘H)

2E Puagd= P T+ QOLY T & a vechr
| Q{m‘e(& deflaed on all ef IR* cadl

L ap (3

| 34 T X

e F 2 a corservabve feld . Albo ., sf F
% o terserVative é)a(p(. 3. 2D _ Hea _af—-a T = 93%

‘Tex—L— Sec [6.3 ~Ex 2 . Detormiqe_ whebhe - or not s

UQC:’?O)" <&e(0L —?()L, ) = < = Vi Y= ‘2.>
(55 toaserVadive . P R
Soluflon__: 2P _ — Y e S I
| EPTe -l
bee BTt 2 F R nob  omseredie

Ted-Seclb 3= B 3 i Determe whother o not Hhe

4o 0 — e =2
Vel reld, F (x, 4) = (3% 214{) 3 + (- 3&1") J
N orservedive . |

P =
Soludien_ - I o
oo ' “%_L3+ g ) =2 —é%;@(l_ ) =2
b oy = 3o o3}

—

| F? I8 (GA,SQY‘\%HVQ, .



5. Fidbg a golerdl uckon : H T 5 comsertedive,

Sy

Yo we (an use the {ounu/e)@- Process o diol a cow%pwu@
-Vo{;e/eé{;d Juekon & . Gemetinmes & can also ba_ Guessed
| 0&«%"—% withowt dho process .

Bamyle "l;?b(,{i, g) = 24, X+&, Yt28>,
Docess » We wanb U = F , 2.e.

f ik d) < 2xXy 44&,&, Ny = L+ F &}u, M &)=~ Yo

M“ FYO”’L %;\b(/ Y. &') = lxw B we_ OL‘llCLf)/L

dwg ey = [xg ko + BB

= XY + 4l4.3) ()
Slep Z 0 Plug  fix, M. 3) = Y+ SY.I) ko
Sy Y ey = A F md get

SRR CLy+ guo)- 4 4w %)

T ﬂg_wr@ = &
Me@mqfo S %) = j%‘ A AE) = Y+ AR

= ood force  Sx, 4, ) = ><'3&+ 43 + AR) | (aa)y

i%.i= Plug- oy, 3> = XY+ Y& + AGR) Mo
Jate, 4, a) = Y+ 23 ad  Aave



Y+ 2 = 33;_ (A9« ¥+ —AL&))
= 0+ ¥+ AE@ = 4+t AT

—> 'A/ &) = 2&

;50 AX) = Sl%ot&‘l'cf = 3+ <
and  Reate < Recall equaton (20)

Jooo gy = K Y+ Yo+ 3
Shwe. (. (an be oy coastant  we -Qﬁ&lca[Qf ue C=0.
,,Exanu?(e, : :% _I?Cx,ﬂ,?r) = L Y, g+ 63?2#3{1&3&},
M X %MC“'&SA, & such —Hat ’ch = —F—?‘
alublon « We wont b0 & 2. wf=F e,
”ﬂib@ 4,3)= 47 Qg&bi, 4. &)= 20+ o %&u,w)cgmé*

Shop 1 Pom Lot i) = 4 we obhin
du gy = etk gt @)

= A4+ 44, F)

Lep 2 Pug Juyg. x)= xy*+ 44, &) udo
$y 88 = 2 F &7 al gek

| 3% 2 [ 2
2}«1+ e = 'gg(x& + &(&jeﬂ): XY + Gy 4, ¥)



. <

qu 3y [ g+ A = 4T+ A
S0 du d, ) = XY 4 Ye3 &+ A)

ﬂegg 3. Plug dvy,a) = xyit yePT+ AF) sdo
: QL&L&, 4,3)= F + 3&9,36— wol get

3%
Fr3get = (gt 4T Aw)
o «+« 3ye T+ Alex)

L

= &) = &

20 py= j = e = L3>+

Paally

| " 33 ,
%LK, {f;%)"' XY™+ He  + "Lia" + C_

Shee we oy needl a Juetlon , we_ can choose
=0 and HLonce

3
fo ¢4, ) = Xy + {fe,aﬁ—(— L3



